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In the figure, ABCD is a square with side = 2a .

PR and QS are the lines of symmetry of the square intersecting at O .
The corner at B is folded to K on SQ. i.e. ABCH UAKCH

To prove that UBCH = 30°

Suppose that CH intersects PR at T and SQ at J .

Then it can be easily proved that AKHT UABHT (S.A.S.); AKCJ UABCJ (S.A.S.)
Hence AKJT OABJT (S.S.S))

Also, it is easy to prove that ACJQ UABJQ (S.A.S.)

O OCJQ =0BJQ = 6 (corr. s, [JAs)

OCJK =0CJB = 286 (corr. Os, OAs)

OKJT = OCJQ = 0 (vert. opp. [s)

OBJT = OKJT = 6 (corr. s, OAs)

AtJ,0+0+20+6 + 0 =360° (s at a point)

= 0=60°

OBJC =26=120°

- ABJC is an isosceles triangle

0 OBCJ =0CBJ = 30° (base [s isosceles A)
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